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The length of a string is 672cm. It 1s used to circle 16
squares of equal size. How long 1s each side of the square?
A. 10. bcm B. 12. 5cm C. 13cm D. 13. bcm
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Use 2, 4, 6 and 8 to form an equation that multiply one
decimal place by one decimal place. What is the largest

value of result of the equation?
A. 16. 32 B. 36.12 C.52. 48 D. 52.08
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A three-dimensional figure has 7 faces. What could be the
figure?

A. = %4148 Heptagonal prism B. - 4 4i4%8 Heptagonal pyramid
C. 7 %#+1%% Pentagonal prism D. = % 4:%8 Hexagonal prism

ek L=9°29L - L =9

If L=9 29L-L=7
A. 258 B. 261 C. 252 D. 290
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